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1. FeS2 + 2HCl = FeCl2 + H2S + S 63,68 -9,42
2. FeS + 2 I = Fe I2 + H2S 9,05 -1,33

3. FeS + NiCl2 = FeCl2 + NiS -26,77 3,96
4. FeS + Cl2 = FeCl2 + S -28,81 4,26

5. Fe7S8 + 7NiCl2 = 7FeCl2 + 7NiS + S0 -151,67 22,44
6. Fe7S8 + 7CoCl2 = 7FeCl2 + 7 S + S0 -165,90 24,55

7. FeS2 + 2HCl + 1/2 2 = FeCl2 + H2O + 2S -129,05 19,10
8. FeS + 2HCl + 1/2 2 = FeCl2 + H2O + S -183,68 27,18
9. NiS + 2HCl = NiCl2+ H2S 35,83 -5,3

10. Ni3S2 + 6HCl = 2H2S + 3NiCl2 + H2 98,23 -14,54
11. NiS + 2HCl + 1/2 2 = NiCl2 + H2O + S -156,91 23,22

12. Ni3S2 + 6HCl + 3/2 2 = 3NiCl2 + 3H2O + 2S -515,57 76,30
13. CoS2 + 2HCl = CoCl2 + H2S + S  85,55 -12,66
14. CoS + 2HCl = CoCl2 + H2S  37,85 -5,60

15. CoS2 + HCl + O2 = 1/2CoCl2 + 1/2CoSO4 + 1/2H2S + S -266,57 39,45
16. Co3S4 + 4HCl + 2 2 = 2CoCl2 + CoSO4 + 2H2S + S -547,33 80,99

17. Co3S4 + 4HCl + 3 2 = CoSO4 + 2CoCl2 + 2H2O + 3S -932,80 138,04
18. CoS + 2HCl + 1/2 2 = CoCl2 + H2O + S -154,88 22,92
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Summary

In this work was fulfilled the thermodynamic analysis of
systems including nickel, cobalt, iron and sulfur for explaining
of chemical enrichment process.
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